(VS A X A 25 d ik (15 2EIE)

T4 4 A 24 BEUT  FEURTTERSHRAES 21:49 FEE
FFEENE W Ik A Tt 4 B | 4%
1 HEPT IR, IR ER 4, 505 =
2 HEPT IR, HHE I 4, 187 =
3 HEPT IR, ok kL 3, 064. 348 =
4 HEPT IR, WNWLE 7 2, 754 =
5 HEPT IR, o HoL 2,252 =
6 NN ToN AT D 2,223 =
7 HEPT IR, FiZh T 2,202 =
8 H AR I bk ook 2, 194 =
9 NN NH H&H 2, 156 =
10 A AL pE S T AT 2,126 =
11 |EEFTE L nWEte 2,097 =
12 |2ABR FE VOV, 2, 054 =
13 |HEERTE <h &K1 2,019 =
14 |EEFTE 72 HDD 1,928 =
15 |HEEFTE AR sE— 1,917 =
16 |HEEFTE ES OAHD 1,912 =
17 |HERTE g i 1, 829 =
18 |HEFTIE ek &bov 1, 806 =
19 |HEFTE KA U5 1,741 =
20  |HEPTIR g 7L 1,736 =
21 |HEPTR DTZ ST 1, 687 =
22 |HEPTIR ER OAT 1, 685 =
23 |HEPTIR ML B0k 1,682 =
24 |HEPTIR RFEZL HE 1,610 =
25  |HEPTIR Hat For- 1, 606 =
26 |HEPTIR AR LLOS 1,492 =
27 |HEPTIR B kL 1, 480. 651 =
28  |HEPTIR HE 2&te 1,436 =
29  |HEPTR s OS5, 1, 363.017 =
30 |HERT)R RAE 1 1, 350 =
31 |MEPTE e LLES 1, 339. 982 3
32 |HERTR ES i AV 1,319 %
33 |EEATR R & 1,177 %
34 |[NEEREN mH Skl 1,165 *




(VS A X A 25 d ik (15 2EIE)

TIAE4 A 24 BRET BB SHE RS 21:49 FEE
FFEENE W Ik A Tt 4 B | 4%
35 |MEATE A IR 1,106 %
36 |HEEFTE LD FZ 1,051 %

37 |EFT)E =f 175 %
38  |HeBAE AL =T R 72T 142 %

39 |EEFTR Jb&Esb XZiEv 116 %
40 |EEPTIR I okl 57 %




